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TASK 10 – USE OF ENGLISH

Complete the second sentence so that it has a similar meaning to the first sentence, using the word given. Do not change the word given. You must use between three and six words, including the word given. 

Here is an example (0).

0 As long as you explain the process clearly at the conference, your boss will be pleased. 
GIVE 
If ……………………………….... the process at the conference, your boss will be pleased. 

The gap can be filled with the words ‘you give a clear explanation of’.


1 James would only speak to the head of department alone. 
ON 
James …………………………………....... to the head of department alone. 

2 They say that a visitor to the national art gallery damaged an 18th-century painting. 
ALLEGED 
A visitor to the national art gallery ……………………………….... an 18th-century 
painting.

3 I really don’t mind whether Jill chooses to come on holiday with us or not. 
DIFFERENCE 
It really ………………………………................. whether Jill chooses to come on holiday with
[bookmark: page7]us or not.

4 Without the help that Joe gave me, I don’t think I’d have finished the course. 
BEEN 
If it ………………………………............ help, I don’t think I’d have finished the course. 

5 John and I quarrelled over a week ago.
OUT
John and I …………………................... a week ago.

6 I regret not going to university.
WISH
I ……………………………………......... to university.



[bookmark: _GoBack]             Teachers:                               Signatures:
1. ____________________________________                 Max – 6 points                                      
2. ____________________________________
        3. ____________________________________                 Score –

image1.png
00




